QOP SO e8CHROOTIPO

&IV HO0 : DOION0, 0T T DEND, DOWFLD DB
ErH0ES (P05

dgrifo 1

1 grden Hrdotod:

a 2° 3By Dend =

6453 ¢S° 5 BJ0EY S Densd =

2 e85, IS5 SON0GK:

a 29 A8 NGB B0, 20+9.

b 307 & 3 3B0EY TS Densd, 3 Hodew.

180 B 50ES HoWIDOS” 7 TBwEy S Deddd TPoHod.

a 73574

b 67748

APSB - 8 - 563677 Q0 : DOWIDOES e3FOT0 - 15

I.?( ,f-“



QOP SO e8CHROOTIPO

&IV N0 : DOON0, 0T F°S DeEND, DOPFLD DB
ErH0ES (P05

4 (808 BS52ES Do 4 TINEY SNW DS TOHOE.

a 13425

b 3241

dgrifo 2

5 7354621 QB0E) DB Erdedned Trood.

A OB B 0855 580 51,472 8.80. & BELS" 5 TB0E) S Desd sHOCIM 0
6 DN DOB?

APSB - 8 - 563677 Q0 : DOWIDE e3OFOT0 - 15

I.?( ,f-ﬁ



QOP SO e8CHROOTIPO

E5DDZTNO0 1 DEION0, OTE T° DN, DOPF DB
ErH0ES (P05

B0& 37¢3 rrded BrroeS TrOHOR.

~N

a 2X1000 +5X100+ OX10+3 =

b 7X10000+3X1000+0X100+0X10+4 =
8 6342986 HowsS’, O HOWS
(@) S0 0 (b) S0LIe> F'd0

(C) DA TS0 (d) 288 TS0 & &o& T°oHod.

driio 3
9 FS Dendd E08H 08! (i) 540 ' 5, (i) 1657 S 6, (iii) 765432 ¢ 7.

10 1984532 & 9 B0y S Densd D0eh2 & Do DB Ed0eS” TraHod.

2,

APSB - 8 - 5636877 00 : QOIS e300 - 15



QOP SO e8CHROOTIPO

&IV HO0 : DOION0, 0T T DEND, DOWFLD DB
ErH0ES (P05

d2rH0 4

9 1808 3 S S0 TrOHoB:

1000X7+100X0+10X5 +4=

105 X7+ 102 X4 +6=

o 472834 TZ0EY IS Erar) Hrerod SrdoeS oraHod.

I.?( ,f-“

APSB - 8 - 563677 Q0 : DOWIDE e3OFOT0 - 15



